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Ifabc>0,a+b+c= 3andkzi,then:
lz:a?’ 22a2+3(k—1)
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Solution by Soumava Chakraborty-Kolkata-India

3
)LZa3 ZZaZ +3(l—1)=>l<2a3—23—7<2a> )z
AT

cyc cyc

{24z (2
B3] (e 3] e

3 3
- it suffices to prove : 9 Z a® - Z al =6 Z a Z a? | -2 Z a
cyc cyc

cyc cyc cyc

(*)
@4Za3+6abc > 32a2b+32ab2
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Schur
Now,4z a® +12abc > 42 a’b + 42 ab? and
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A-G
z a’b + Z ab? > 6abc and via (D + (2), (+) is true
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-'-l2a3 ZZaZ+3(A—1)Va,b,c>0|a+b+c= 3and12§,
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"="iffa=b=c=1(QED)



